Table S1: Missingness mechanism in EQ5D
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       _cons    -5.779421    .717381    -8.06   0.000    -7.185462    -4.37338

              

        260       6.39599   .7169747     8.92   0.000     4.990745    7.801234

        208      6.287535   .7166323     8.77   0.000     4.882962    7.692109

        156      7.521098    .724621    10.38   0.000     6.100867    8.941329

        104             0  (empty)

         52      3.957612     .71927     5.50   0.000     2.547868    5.367355

         47             0  (empty)

         43             0  (empty)

         39             0  (empty)

         34             0  (empty)

         30             0  (empty)

         26      3.768704   .7205813     5.23   0.000      2.35639    5.181017

         19             0  (empty)

         17             0  (empty)

         13             0  (empty)

          8             0  (empty)

          6      2.814253   .7330276     3.84   0.000     1.377545     4.25096

          4             0  (empty)

          wk  

              

   sitegroup     .0402769   .0106087     3.80   0.000     .0194843    .0610696

         age    -.0114234   .0035559    -3.21   0.001    -.0183927    -.004454

    duration     .0457132   .0389998     1.17   0.241     -.030725    .1221513

        size     .0008384   .0020986     0.40   0.690    -.0032747    .0049515

         trt     .0027509   .1020081     0.03   0.978    -.1971812    .2026831

                                                                              

      M_eq5d        Coef.   Std. Err.      z    P>|z|     [95% Conf. Interval]

                                                                              

Log likelihood = -1231.3366                     Pseudo R2         =     0.4145

                                                Prob > chi2       =     0.0000

                                                LR chi2(11)       =    1743.66

Logistic regression                             Number of obs     =      3,150


